> A
A & 0l & AF 2 E A A
20169 = 204 LB MOtS 2322t
AN MOSSat22
g MOt=2s #4353 Jlgtxd
S MOISAIYE 2435 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
MOtS & 322t 22,086,947 34,550,667 212,463,720
= 557,741
Xl 8,008,000
J| 303,615
< 2,373,675
Al 10,843,916
MOtS2s 843 JIgtxd 1,062,330 1,139,600 ANTT,270
< 31,380
Al 1,030,950
MOFS At 243t 1,062,330 1,139,600 ANTT,270
< 31,380
Al 1,030,950
MOISAIE &=2tel 406,000 526,000 A 120,000
401 AIEHI L 2 CHYI 6,000 6,000 0
01 A& HI 6,000 6,000 0
O gg=Exs 2 E+3At
1,500,000 * 40 A 6,000
402 RIZ2FXt20l ™ 400,000 520,000 A 120,000
01 ATt EAEEX 400,000 520,000 A 120,000
O otszla 2Ar 400,000,000& = 14 400,000
MOtE2s 9&23 228,380 73,650 154,730
201 YEre Al 20,820 21,870 21,050
01 At 22l 20,820 21,870 A 1,050
0O get=24 14,200
O #HFAMRII 228 7 6,850
mWA EY 100,000& * 13| 100
SAMI EU 100,000& * 2CH = 33l 600
ZelH Ed 200,000& = 504 = 33l 3,000
ZHEZEH EU
350,000& = 3CH = 3=l 3,150
O MOtS2l 72¢ 10,0002 * 1004 1,000
O MOtS 2 222 A
50,000& * 6& = 23] 600
O MOtS sfdsSAtet 23
4,000,000& = 14 4,000
O MOtS 2¢ 22 &= &
130,000& * 103l 1,300
O MOIS 28 & & Ma K2
5,000& » 90= 450
O fIg W=t 1,000
O MOt2 2 ws A
200,000& = 5H 1,000
0 =&l 4,620
O MOtS 928 7,0008 » 62 = 110 4,620




EX: MOIS23220
H: MOIS2s 843 DX d
CH2: MOISAIY 43 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O dxzs 1,000
O MOI2 €28 AXG AR
500,000 = 2CH 1,000
202 044 10,320 10,800 AN 480
01 2L Y| 10,320 10,800 AN 480
O MO g2=& 20,000& * 5 x 60 6,000
[0 NOIS g% &3 9 =
80,000& x 3¥ * 3Y x 63 4,320
301 et A= 47,240 40,980 6,260
09 HAIAHI EAZ 47,240 40,980 6,260
0 MOl 52 1= |
20,0003 * 21298 * 23| 8,480
O MOl 52 s AL Ad 24
20,000& * 60Y * 103 12,000
[ MOtS S22 AR Ad A
60,000 = 40 2,400
[ BMEE MOIS NS AUHE EAX AHE
& 60,000 * 54H 3,240
0 2220 Sss0ig S4T AL
60,0008 = 40 2,400
O &=2 MOt NS XAUE AKX AdEa
60,000 * 54H 3,240
[ SEX SHOHHA 8 AT 24 WEH|
g At 20,000 * 60H 1,200
O HIEAHAIISsS T3 A AHEA
60,000 * 54H 3,240
O HEHAIISs d=20U3 EAX AdEa
60,000 * 54H 3,240
[0 =2015g dNUE EFAX Ad 84
60,000 = 50 3,000
0 HEHAI S sMMBAMNE EFAX A
Hl &2 & 60,000 = 40 2,400
O HEHAII S HESAMI S ARG HAX
AHI B A 60,0008 *» 40H 2,400
306 =132 150,000 0 150,000
01 s 3 150,000 0 150,000
[0 HAMOIS AlBEOIS ZHALY
150,000,000& * 14! 150,000
MOI2 & 239H K& 334,700 446,700 A 112,000
301 et A= 12,600 12,600 0
11 J|EtE A2 12,600 12,600 0
O MOISXNEX MrHIISsE X2
1,050 * 1,000 « 12€ 12,600
307 giztol A 322,100 434,100 A 112,000
02 AI2tAAMAIE E =X 132,100 248,100 A 116,000




EX: MOIIS2s2Z
H: MOIS2s 843 DX d
CH2: MOISAIY 43 (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
[J MOISX X tHal 8,000,000 = 14! 8,000
O OMXE2D0 AFY K& 1,000,000 = 14! 1,000
[ EHLQ SAEAS X
4,500,000& = 1A 4,500
0 NMot=&s =2HM3tArg XI&
13,500,000& = 14 13,500
0 MOtS detatc 39 X&
13,500,000& = 1A 13,500
[ MOIS WESAMNM UWSEAN &8 AIY X
14,000,000& = 1A 14,000
O H2AHAIIE&sS otH= U3
1,600,000 * 14! 1,600
0 MOISXNE A sots OE U3
12,000,000& = 1A 12,000
[0 MEtA sMMEG MOISses A
18,000,000& = 14 18,000
[0 =0 MOISUHSM sHHE XS
22,000,000 * 14! 22,000
[0 BIEHA)I2SE UEstAMEUsH MY XI&
3,000,000& = 1A 3,000
[0 HEHA) S sMMEAN SdSOMEE
= A& 10,000,000& = 1A 10,000
0 BIE2HADIS HEJIACIS)| AMBl2sH
i X & 2,000,000& = 1A 2,000
[0 H2H&II2s 20, 8o & 29
5,000,000& = 1A 5,000
OO AEe &SI MG X
3,000,000& = 1A 3,000
O 200sAH330U3 X 1,000,000 * 14! 1,000
03 I HEHESIEHIEX 150,000 146,000 4,000
[ MOI=23 824l XI& 100,000,000& = 14! 100,000
O H2AH&IIg2s 29H X
50,000,000& * 14! 50,000
06 22 40,000 40,000 0
[ MOISXI A Aol 2E O
40,0002 = 1,000 40,000
MOISX A RS2 XS 17,000 17,000 0
o= 8,500
Al 8,500
301 et A= 17,000 17,000 0
= 8,500
Al 8,500
02 ¥st=24sHi= 17,000 17,000 0
0 MOISXZ=A A &s2 X
17,000,000 = 14 17,000
o=t 8,500
Al 8,500




LSS0
MOtE22s 43 Jlgtxd
MOIS MY 43t
= _ — d =
B SR (B) - KIRAY - BES Ol &t o e
2IMITMOtE2sFA2EXE 31,000 31,000
< 9,300
Al 21,700
307 gl2tol & 31,000 31,000
< 9,300
Al 21,700
03 BIAHNHE2IHIEL 31,000 31,000
O 21M101 Mots2sFzd2Y Nd
31,000,000& * 14 31,000
< 9,300
Al 21,700
SstEs S SIIAY 24,000 24,000
= 7,200
Al 16,800
307 21201 A 24,000 24,000
= 7,200
Al 16,800
02 It S AHE L 24,000 24,000
O si=s 22 X2ANSIIAY
24,000,000& = 14 24,000
< 7,200
Al 16,800
COSHMESIAY 9,600 9,600
= 2,880
Al 6,720
307 21201 A 9,600 9,600
= 2,880
Al 6,720
02 It S AHE L 9,600 9,600
O HEUSHMEE ALY 9,600,000& * 14l 9,600
< 2,880
Al 6,720
HE2AAII2s 8ds =8 10,000 10,000
< 3,000
Al 7,000
307 glz2tol & 10,000 10,000
< 3,000
Al 7,000
03 BIAHMNHE2IHIEL 10,000 10,000
O d2Adli2sgds 828X
10,000,000& * 14 10,000
< 3,000
Al 7,000
HENAII2s AHdYEAA =S X2 1,650 1,650
< 500
Al 1,150




<

n0

Kio

Hl w

13,500
13,500

A2,000

A2,000

A2,000

H3r
Wikd
RIS

1,650

1,650

414,630

414,630

360,760

16,055
4,440

11,615

Off &t 24

1,650

500
,150

H

1

Al

1,650

1,650

500
1,150

428,130

I

Al

428,130

358,760

14,055
4,440
2,400
1,200
1,200
1,540

1,540
500
500

9,615
615
115

35
80
100
400

307 21201 &

Ki
iy
&1

<0
R0
~J

ol

oH

8J
n0
o}
<H

L
<
el
%0
B
Gy

Ho
O

<N

|

gt

Al
Ay

1

o
[und

2| %

i

1,650,000

70
K4
%0

il
A

o)
Rr

=

[o2]
=

FAF

=l

AIJHXI O]

AIK

2
2

2« BOOH = 12

e
[

& » 5000 » 12

[l
e

o

2,000

Sxs AEH MR
2,000

KJ
K
oF
ol

<
o
Ak

%
1CH
1CH
1CH

2 o« 20

2 *
2 %
2 *
(=1

g = 110

2| x 2
35,000
80,000
50,000

500,000

o
[ud

7,000

O XSXHAl
O Xsx A=

i
ol
I+

i

R0
[

he)

6,900
6,900
1,400
1,400

100

300
9,000
9,000
3,000
6,000
6,900
6,900
4,500
2,400
1,400
1,400

* 10H

| = 10H
N
1CH

1CH

Cél

%

(=]
2
2 *

e

3

2]

H x 75

# x2

[und
i

2 % 2

4« 38 + 10

=
=

2 * 3

e

3,000,000

50,000
150,000
6,000,000

20,000
80,000

(1€)
(5€)

Hed(1g)

202 O Hl

01 =LHOIHI
206 M= Hl
01 M= dl




SH: MOIS 22
Hu: WHE CABAEA

Sl AIJHXIOISHALS (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O 2200 2 300,000& * 3= 900
0O Z22AMNW s217 7 100,000& * 5& 500
401 Al B 2 0HHI 336,405 336,405 0
01 A& HI 334,000 334,000 0
0 Z3A & AMIIX ZEZ2A 140,000
O 22| o2 20,000,000& = 14 20,000
O AN o 80,000,000 * 14 80,000
O ol 282 0|5 20,000,000 = 14 20,000
O gH ¥ 29X #¢ 10,000,000& * 14 10,000
O Ol 2 EXR2 PY
10,000,000& * 14 10,000
O 9302 sA22 4,000,000& * 14 4,000
O OtSde X4Z2A 10,000,000& * 404 & 40,000
[0 AEH gL ALY 30,000,000& * 14 30,000
O &AIDJER EE0I3 =8 3 A
100,000,000 * 14 100,000
0 odaeH 22348 2 05 &
20,000,000& * 14 20,000
03 Al& 201 Y] 2,405 2,405 0
0O A& ZHABAN S
334,000,000& * 0.72/100 2,405
AJERI S HIALY 69,370 53,870 15,500
201 et A | 5,370 5,370 0
01 AFR2t2ldl 3,340 3,340 0
O det+2H| 1,800
O OrMg ZE X M 20,000& * 504 1,000
O ¢ ot EX& XI&
200,000& * 404 4 800
[RE==] 1,540
O AJHX &HHl gR=&X
7,000& * 29 * 110 1,540
02 35244l 2,030 2,030 0
O A& &Hl s X bl 2,030
O AIJHX HHIAIY &EBl SFU
2,030& * 2004 = 5& 2,030
206 T 2 bl 1,000 1,000 0
01 24l 1,000 1,000 0
O AJFR EHl X 2 200,000& = 5& 1,000
401 AIEHIL 20| 40,000 45,000 A5,000
01 A& Hl 40,000 45,000 A5,000
[0 f238 &) & X122
5,000,000& * 14 5,000




SH: MOIS 22
Hu: WHE CABAEA

20 AIJHXIDI S ALY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O MK &t&E wd & Zl
25,000,000& * 14l 25,000
O AMIHX Jt2ste =4 2 Fl
10,000,000& * 14 10,000
405 XHoHF S HI 23,000 2,500 20,500
01 et ESFH S 23,000 2,500 20,500
0O 22288 3t=2E8 WA
23,000,000& = 1CH 23,000
2oz 243 1,852,696 6,688,495 A4,835,799
= 26,341
J| 221,730
< 157,086
Al 1,447,539
Zsi=gR =& 1,852,696 6,688,495 A 4,835,799
= 26,341
J| 221,730
< 157,086
Al 1,447,539
o= FA 393,300 400,660 AT7,360
201 Let24d] 15,410 55,410 240,000
01 At 22/l 5,410 5,410 0
0 get=2Hl 2,100
O 2350l A 829 W&
100,000& * 54 = 23] 1,000
O XNE=stil= AL EE2S M
110,000& * 103l 1,100
0O =&l 2,310
O 250z A HRFT
7,000& * 3 * 110 2,310
O gx= 1,000
O =&tz A Xt X
500,000& = 104 = 23l 1,000
03 A2 Z Hl 10,000 50,000 A 40,000
0O 2stti=23 HA2EH|
2,000,000& = 53| 10,000
202 O4dl 15,240 15,600 A 360
01 = LH 4 Hi 15,240 15,600 A 360
O 230l g2F& 20,0008 * 6% * 552 6,600
O H2C9 250E A
80,000& * 6F * 3 * 63 8,640
301 et A= 46,850 55,850 A 9,000
09 &AL HIZ &S 46,850 55,850 A9,000
0 &4 2so=2sXE
60,0003 = 25014 = 103 15,000




AN MOSSat22
M 2oz 2435
& S0z =& (cho &)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
0O 2350z A HE 4T AH24
60,000& = 8% = 102l 4,800
O =tz &AL g2 34T =4S
7,000& * 30 « 53l 1,050
0O Z0tte JtQuWal S AglE4
20,000,000& =« 14 20,000
0 S8Hes I8 R0t e S2dsl SEL
AU 24 60,0003 = 50H =« 23| 6,000
307 gl2tol & 315,800 273,800 42,000
02 It M AHE X 280,800 238,800 42,000
O SEA g2t 100,000,000& * 14 100,000
0O Mozl M= H 7,200,000& = 14 7,200
O XNE23t0s S X 35,000,0008 « 14 35,000
0 sssosed =ASst=UE
20,000,000& * 14l 20,000
[ 228 AL 2XJ  4,000,0008 * 14 4,000
[ M232 AMH olgol Ol=d
1,600,000& * 14 1,600
O X =9= &2t 20,000,000& * 14l 20,000
O M43 AHEIAISL2H
10,000,000& * 14 10,000
0 2gd szt dAX
2,000,000& = 43| 8,000
O M24s 2dHM=H HAXA
70,000,000& * 14l 70,000
O LatE DM S#AFXIE  5,000,0003 * 14 5,000
03 RIAHHEE2IHIES 35,000 35,000 0
OoEs Z2EXNE 22 H 35,000,000 * 14 35,000
HEZSHE A X & 8,700 8,700 0
201 ¢er24l 4,500 4,500 0
01 At 22l 4,500 4,500 0
0O get=3Z4l 4,500
O NEzs A 228 ME
200,000& * 93 1,800
O =3 A 22 &% HMH
90,000& = 100HZ = 33 2,700
301 et a = 1,200 1,200 0
09 AL HIZ &S 1,200 1,200 0
O &2 00z 4T &4H 24
60,000& = 109 = 23] 1,200
307 gl & 3,000 3,000 0
02 It M AHEE 3,000 3,000 0
0 3= 2203 oed XA
3,000,000& * 14l 3,000




EX: MOIS23220
HH: 230z 2435
e ZetlilzgR =8 (cho &)
5 - 4
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
HEUWEE ;AKX S 30,000 30,000 0
307 2Iz2t0| A 30,000 30,000 0
04 SIZ2ISHAAISH E & 30,000 30,000 0
O HEUES slA 30,000,000 = 14 30,000
2 A H A& 53,000 0 53,000
201 LBt ]| 13,000 0 13,000
03 A2 E H| 13,000 0 13,000
O 28828 Aol SMots st E 2
S48 Hx KNS 13,000,000& = 14 13,000
307 2iz2to| & 40,000 0 40,000
04 SIZ2ISHAAIHE E & 40,000 0 40,000
O 288 AotH HE K&
40,000,000 = 14! 40,000
=1 Mol 22 523 15,000 0 15,000
307 2Iz2t0| & 15,000 0 15,000
04 SIZ2HSHAAISH E & 15,000 0 15,000
[0 81 Mol 22 S35
15,000,000& = 1A 15,000
22 MEOIS H=0el )|l HAXS 4,000 4,000 0
307 212t0| ™ 4,000 4,000 0
04 SIZ2ISHAAISHE E X 4,000 4,000 0
0O 85 AlZor2 S0eldl #HAIKR
4,000,000 = 14 4,000
2A20tH =2 ALK& AL 52,682 55,235 A 2,553
= 26,341
= 7,902
Al 18,439
307 QI2t0| ™ 52,682 55,235 A2,553
= 26,341
& 7,902
Al 18,439
02 QI2tAAMAIE E =X 52,682 55,235 A 2,553
0 2220F tl=2ZA &AL
52,682,000& * 14l 52,682
= 26,341
o 7,902
Al 18,439
EXY @ald SHAIXE 15,000 15,000 0
307 QI2t0| & 15,000 15,000 0
04 CIZ2tSH APALS B = 15,000 15,000 0
0 MY 24 25 #AX
15,000,000& = {14l 15,000




2N

MO
gz 23
=2

cHel: EERES CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SES Bt Y ALK 5,000 10,000 A5,000
307 gl2tol & 5,000 10,000 A5,000
04 DI2ZHHALALSE E X 5,000 10,000 A5,000
O 83 2tge & M
5,000,000& = 14 5,000
ZE23H ALK 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
0O 223 ALK 20,000,000& * 14l 20,000
Szud 24 5,000 5,000 0
< 1,300
Al 3,700
307 glz2tol & 5,000 5,000 0
< 1,300
Al 3,700
02 It M AHE X 5,000 5,000 0
0 =ssws 22X 5,000,000& = 14 5,000
< 1,300
Al 3,700
SHEE ALK 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
04 QIZFHALAIH E = 15,000 15,000 0
0O g2 dAX2 7,500,000& = 204 A 15,000
ANLEZsAAY 2K 123,000 123,000 0
307 21201 A 123,000 123,000 0
02 B LAHEX 37,000 37,000 0
O XNE=223MY gsX2
37,000,000& 14 37,000
03 IAHHEE2HHIES 86,000 86,000 0
O XNg2sd 234l 86,000,000& * 14 86,000
=232 & AE=2Y 80,000 90,000 A 10,000
307 gl2tol & 80,000 90,000 A 10,000
05 BIZHRI & 3 80,000 90,000 A 10,000
0O 232y fI¢ 22 80,000,000 * 1042 80,000
S & AP FA 6,945 8,345 A 1,400
201 Let24] 6,945 8,345 A 1,400
01 At 2t 2l 6,945 8,345 A 1,400
0O g3l 1,345
O 29 o HYae 2 22 U2 R
3,500& * 3&Z * 902 945
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n0

Kio

Hl w

A 10,000

H3r
Wikd
RIS

14,452

2,700
2,700

60,508

Off &t 24

5,030

630
4,400
1,540

1,540
1,500
1,000

500

14,452
13,092

1,500
7,800
4,800
3,000
720
72

1,800

100
200
500
400
1,360

400
180
400
380
2,700
2,700

2,700

50,508
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ol
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30
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box 201
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2 x 99

e
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2 o 11
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128
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2| %

e
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2 x 2

2 * 3002 * 5
400,000&
500, 000&
60,000& = 12&
6,000&

1,000

O &J=
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=
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oJ
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128

A o
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150,000

3

100,000& * 1
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R0
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2
2
2
2

1
1
1
1
1

2 o*x 2
2 *
2 %
2 %

2 %
2 *
[=1
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500,000
400,000
200,000
180,000
400,000
380,000

z 2l
e
300,000

2teld

WNE=E=3:IE=DN|
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b

el
e

b

S
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uy
O &a=x
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O AlZEHlsXdl

206 M= Hl
01 M= dl

ol

2l x 3F * 3

o
sl

30
0
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Al

D

A 6,000
A 6,000

48,928
21,096

378

15,096
11,356

42,928

01 At 22l bl

201




A MOIE 252D
M 2oz 2435
& S0z =& (9 ® =)
SA - BB B () - MM - BES Ol &t o San HmEET
AE X 25,0003 » 10 A 250
B4E Xl 25,5003 » S5 A 128
O #HIMRBII 22 2 980
WA EY 100,000& * 104 100
SA EU 70,0003 = 1CH = 43 280
TeH Ed 200,000& = 104 = 23l 400
SAD EH 200,000& =« 1CH 200
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